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1. NO. 17 v Hh—T
(1)No.1 7> Hh—T

No.1 7 H—T Td=540KN 29 1. 000
HIFL (7> H—) “EEHFKX, 115mm, V¥E + m 69. 100

HIFL (7o H—) ZEEFX, 115mm, A m 70. 900
) HABIN L - AHSZ - FRA - B - A (7 A, 2R ESAON * 12 000
779 MEATERL 24kN/mm2 W/C=47. 5% m3 4,700
T i%(é)frgi;%ﬁmom/zﬁ TEAE « L 000

F— LT L— b (TI=0RA 4k ?ﬁ)(*ﬁig%n%%%BOCmX K 1. 000

(2)ZEWT 124%

SRR T =X 1. 000
=¥7J—hTL gé%ﬁ%é%ﬁ?@éé%% m3 42. 000

T L RIS m 84. 000
IR RIS m 13. 000
AT ;;2%%%?3 15~20cm, 4= o 84, 000

H bR R (T TV HHE L B AR t=10mm nf 11. 000

SR L RN, $A57 SD345, D13 kg 1, 097. 000

PR L RN T, #157 SD345, D16 kg 443. 000

PR L RN, #157 SD345, D22 kg 1, 320. 000
i 2V 1. 000

Uit 58 [T A L HIZE 15~20 t 2. 100

B AR Y il v =% HEVU 12150 4. 0m VN 3. 000
aryzy—rL BHLarzVU—1) 18-8-40 (& 47) m3 2. 700
FEEIE i 26. 900
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R 1 =4 EIHRL (H3 0ME) =4Ffidkes  [ETEH
THE - FER - AR Biks HLAL Ho H &
A~y T nf 66. 500
(3)+T

+T 29 1. 000
PEHI T B+ m3 188. 000
% T m3 4. 000
FA m3 184. 000

2. No.27 v H1—T
(1)No.2 7> —T.

No.2 7 yHh—T F2y 1. 000
HIFL (7o) ZHEEFX VE L m 125. 200
HIFL (7> —) THEE A, UoE m 70. 800

B SBEINL-FSL RN - R e (7 —EP A, R EL540KN ES 12. 000
777 MEATRRL 24kN/mm2 W/C=47. 5% m3 6. 500
T %iﬁﬁﬁmm& EA =« 1000
S AT L— b (TIAZIMERA A SR ?ﬁ)ﬁﬁg%ﬂ%ﬁégomx & 1.000

(2)ZEWT 123

ZIEHRL =X 1. 000
=¥7J—hTL gé%ﬁ%é%ﬁ?@éé%% m3 42. 000
TR T BRI E Y i 84.000
AP T BRABHHEY ot 13. 000
T ;;Z?ETfZJ? 15~20cm, = " 84, 000
A bR 8 T VR EMEE B HIAK t=10mm nf 11. 000
PR L SRR T, #1057 SD345, D13 kg 1, 097. 000
SR L SRR T, #1057 SD345, D16 kg 443. 000
SR L RN T, $A57 SD345, D22 kg 1, 320. 000
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R 1 =4 EIHRL (H3 0ME) =4Ffidkes  [ETEH
THE - FER - AR Biks HLAL Ho H &
fH &S L =X 1. 000
S P 35 L EFE 15~20 ot 0. 900
AR Ve = HREVU 2150 4. 0m VN 3. 000
aryr7Y—rL HLarzU—F) 18-8-40 (&%) m3 2.700
LR IE m 26. 900
A~y L nf 60. 600
(3)+T

+T F29 1. 000
PEHI T B+ m3 156. 000
BT m3 2. 000
FA m3 155. 000

3. 1
(1)

& ¢ =X 1. 000
A=V I~y U BERL | 3. 000
2L 7Zm3 411. 300

4. W%
(1) st

VAR ¢ E20 1. 000
MR L=12. 8km m3 7. 800
TR m3 7. 800
MR L=14. 4km m3 338. 000
Vs MW U m3 338. 000

Wi &

1. FEARCERE
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R1=# HIHREIL (H3 0fiE) =4y WLELE

AR - AR - Kk XA B i &
(1) 3Lt

KA E =X 1. 000
AR R M B 14em ES 1.000
AX (IR @B 26cm %S 3.000
AX IR @ E A 28cm %S 2.000
AR R Mg B 32cm ES 2.000
AR R Mg B 34em ES 1..000
AR AR M eE  36cm ES 1..000
AR AR M A 40cm ES 1..000
AR AR M 44em ES 2.000
AR AR M AeE 50cm ES 2.000
v/ X fkiRH g EASE 10cm EN 1. 000
v/ X fkERH& @ EAE  16cm A 1. 000
v/ X fkiRH& B 32cm A 2. 000
v/ X fkERH& B 38cm A 1. 000

BB
e
(1) EfEH

e X 1. 000

BN A LB A 3. 000
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